ot T FEAe &

[=]
[N

L
2025 OfXL7F2AMIE| oftHZ| B Al O

e

o

I.

| o
|

A
=
o

H=
7|2) / HIEHH(ZOOM) / SHOo|HE|E (e + H|chH FAl)

OfEHZ| Wit =0l
Y
o

I OfH{R| I
-

1,
A

Z=5¢

: 202514 A|271&THW ofH{R| Al

AZ7H47|25 A 322 (
: CHEH(

=Y2. 2025 M7t

=
=

— 53
b
< i
= o &
o | N o
= ol ofr N
< | H >
o o | X ©
ofr < S @,
4 ofr m
) Nt s
¢ B ol d
o I "l B g
o EO|
— o~ 11 =
© | X o
—t —
= Ko oo m e =
_u._ |__L|O Lvmo o4 H__._lL N ° (e}
Lo~ HT &y r &R x° o
<0 f | 1 or To O 1t =
o ST )
o of - oh A N
o —_ — - = N
Sq 0 g iy R o
4 @ K5 H AKX o H
_ ~— O|_ s _ln_O _|_O Llﬂ —_
il a = - 1o
g ~ _J _MnhA < D_—A ua |
: _— g | (o] = T
X A AT [ No —p | mm of
— o) H_._ ~ +n = _H_._ N T
-, —_ [} 1 — —.A
2o u°o X |3 K
° g BTN Frhq FX T
E O B EHx T O X0
—t —
WO ML B o L <
- . SR [ = |_.—A|ﬂ L|=._ .. . e _II_IL Ol_ .
._.oM_.1.__/+|_..mn__._| o Mo%aﬁm B —o = I’
<0 . o = =5 o T N~ Bl X7 = X . To
H_O (o] _l_l N oK <I TO = Q_O .__A_._._ OL o)
by ™0 | - X X D_I H_._L ] o X
(e} (o) _n_._ I:AI\ —.AH Tl X1 (o] - —_ I—-A-O -1
== - u M X3 o ! <
T Ok ok T x o Lo ou. =
N— —_— o~ o~ = —_
O 0 O o - ™ < =

T2 28 AR

3¢ ot 7iE §E ol

A2 ofHZ| WAl 000 (7]|2tH)

2025. 5. 15.(%)

7|7k:

q

S
o

A
[

)

2



7|2t

2go| A
oo,

~

A

o
L

|

2 1% olAtol

ek (

9
o

%

H

F

s
=
af

o7t

C
=2

1 ALY

Ch2 AllE{S[A |55t

A obgatol| SHaHLICt,
PETENEIRT

2t
(=]

AlAd %
- O
Zof o
ENE i
tofl M= W& Zhofof 2|%fo| glEE ZOOM i

=l

}.
F

I
S 7|

A
=

] ofeH |

-

i Al

o

o)

H
2 T

Clol
[e)

=

[=]
—
ked|

Ui
]

I.

o
[

-

A
(mapofamily@naver.com) &

e A

;

=3

/
tiifo2 7|
[e)

-

-1

=2
YFA 209 oldoln, A 2

I OfH{R| I

=h

20254 OfaL

MIE| ofs{Z| AL CH, HICHH, Sto|Ha|s (HH+H|CHH SA]) 5 AlEHstof

Z=5¢

25| ol A2 BiELCH

2o FA|7] BERLICE

=
=

fo] Mg oo
=4
|.

olov| QolstELIct 18
(€

2

=

ULt
=

7HE AU o)
=

of Azl

22 WY Y8t
A

=
[ -

o
D8 A3 2% H7RA| oixt mAle YEshRMoE S,

2. 20253 MEZ7t

o
DFA]

T
e

o
182 oL A 83l F Z4 23HA| o[4S AEhsto] PAfsHotstnd

602, 2|t 120& Oo|LiZ

B FA|7] HERFLICE

2025 OtZ 7t
EAl w50

(o]

=

LH AP ORLH

=
=

L
=
A

o

o
e

R
00
—
KO
<
oK

Fo{ 2}

=]

2

F=(0, oo

o

gfof| 2

=

°J

AR EFEE), d= de 71 2

o
[

atz7o| 2|

24l o

=

2 A

2H
[m]

2 Tz



